
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.995 × ________ = 10995 1.939 × ________ = 1939

4.386 × ________ = 43.86 3.063 × ________ = 30.63

2.127 × ________ = 21.27 1.046 × ________ = 10.46

1.611 × ________ = 161.1 5.827 × ________ = 582.7

3.5 × ________ = 3500 1.637 × ________ = 16.37

5.935 × ________ = 59.35 8.149 × ________ = 81.49

2.629 × ________ = 2629 3.74 × ________ = 374

8.127 × ________ = 8127 8.882 × ________ = 88.82

3.227 × ________ = 32.27 9.097 × ________ = 9097

1.291 × ________ = 1291 10.832 × ________ = 1083.2
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply by powers of ten (missing number)

10.995 × 1000 = 10995 1.939 × 1000 = 1939

4.386 × 10 = 43.86 3.063 × 10 = 30.63

2.127 × 10 = 21.27 1.046 × 10 = 10.46

1.611 × 100 = 161.1 5.827 × 100 = 582.7

3.5 × 1000 = 3500 1.637 × 10 = 16.37

5.935 × 10 = 59.35 8.149 × 10 = 81.49

2.629 × 1000 = 2629 3.74 × 100 = 374

8.127 × 1000 = 8127 8.882 × 10 = 88.82

3.227 × 10 = 32.27 9.097 × 1000 = 9097

1.291 × 1000 = 1291 10.832 × 100 = 1083.2
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